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-ma

BRI
l-——-1——

272
11415
'l!.‘

2
o H415 1115
| 2 72
26 -4
VS e —

2 2
y=13 =2

’

SS. = 1{13,-2)

5.3  The Quadratic Formula

If v A by =0 a=(

h 4 V'rh"' -4ac

then X

Ja

Solve using quadratic formula:

Q.1 ¥ - Axd 6 =i

Sol. Here a=1
h=-5
¢=6

(Formula)

Putting values ol . b, ¢
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Q.2.
Sol.

or

Here

(Formula)

X = j“'.‘"b + \'fl ‘il. -4“—;((:;
2h

.t=j—‘l|
-
_ 3¢l
X= o
k.
S+#1 5-1
X = .-
. 2
6 4
X=— -
22
x=32

Solutin set = {3, 2}

(3-4x) = (v =3y

I-4x = I(),\'? - 24y +9
0=16x" -2dv+9-3+4x

0=16x" -20x+6

16x* =20x+6 =0

8x*=10x+3 =0 (Divided by 2)

a=8

b=-10

c=3
x=.’f’t‘/’?::;

2u

Putting the values of a, b, ¢
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~(-10) £ J(~10)" - 4(8)3)

A v TP = PYF TATAC

%)
v - 10+ J100-96
16
- 1044
16
1042
X = ~m——
16
t:IO+3IU—7
' 16~ 16
12 8
X o —
16 16
31
x= -
4 2
Solution set = i‘l
42
Q.3. 3x' 4y =2 = ()
Sol. Here a=3
b =1
c=-2
(Formula) x= —bt Vb —duc

By putting the values of @, b, ¢

v= =1+ () —4(3)-2)
2(3)

Jope -1+ V1+24

6
X = 'I___f ‘/ﬁ
6



Rectangle


-
"

P
]

]

Solution set

=15
6
-1+5 =-1-5
6 6
4 -6
6 6
2
—.-1
3

| 12
I
g

Q4. 10x" =5x =15
Sol. 10x* =Sy =15 =
2x’-x-3 =0 (Divided by 5)
Here a=2
b=-1
c=-=13
Formula: x= ~ht N

By putting the values of «.

X =

Qa
h, ¢
(=) # J(=1) - 42)(-3)
2(2) -

1+V1+24
4
1425

4

BES

4
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‘ = I+5 1-5
4 4
6 -4
X% o e
4 4
X = -?-,-]
2
Solution set = 2'_.1
2
Q5. (x—1)x+3)-12=0
Sol, X' 4+2x-3-12 =9

Y .
x +2x-15 =)

Here a=|
b=2
c=-15
(Formula) x= 'bt"fm
a

By putting the valueﬁ ofa b, ¢

x:

-
I

x:

-2+/(2)' - 4(1)-15)

2(1)
-2+ J4 +60

2
'21‘/6—4
2
-2+8
2
-2+8 -2-8
2 2
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6 =10
| Vo
2 2
v=3,-5§
| Solunon set = (3, - 8!
| Q.6. MIN+T7)-32x+7) =0
| Sol. Qv+ v -6x-21 -0
v ex=21 - 0
"icrl: {a = 2
& o
c=-2]
(Formula) = =h+Vh =duc

Ju

By putting the values of a, b, ¢

—14 (1) = 42)=21)

2(2)

-1+v1+1068
4

-l:t\.m
4
-1+13

4
~1+13 -1-13
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--------

7 l 2v-|
Q.7. - here ¥ % =4.-6
V44 x+6"° Where
Sol. (o S0 (2o = 1) x+4)

NaTveb o 2%+ 7x-4

V=2v ey Tvahe -0

-1 410 =
v =10 =
Here a=1
h=0
c==10
(Formula) v = ~h+ b - duc

2a
By puttmg the values of a, b, ¢
v =(0) 4 (0) = 4(1)(=10)
2(1)

v 0+V0+40
—
.= 0+/40

2
L= 0+2V10
2

2J10

= e

2

£J10 '
i)

-
]

[}

Solution s¢t
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Q8. x 6.4
X

Sol.  Muluplying by L.C.M. 12x

12| X120 [ &) = 12uf 2] 120 [ 2
| 6 x| X 4

2x? 472 = 484+ 3x°
2x-3x2+72-48 =90
-x'+24 =9
x2—24 =)
Here a=1
b=10
=-24

(Formula)  x = —h£Vh* —duc
S

!
By putting the values of a, b, ¢
x = =(0) £ J(0)' - 4(1)(-24)

2(1)

x= £V0+96
2
L= 96
2

- 116%6
2
= 46

2

x= £2J6

Solution set = {£2V6 }
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o ,,47 KT
0.9. lﬁ«r" ’m
v-4 xv+4 3

Sol  Muluplymg by 3(x — 4)(x + 4)

3(vtANa )+ 3(-4)(x—4) = [0(x - 4)(x + 4)
Wuv +Brslo)p+3v -8r+16) - ](_)r(_r2 -16)

3v e 24v e 484 3¢T - 24x+ 48 = 10xP =160

Il 43v- =10y +24x-24x+48+48+160=0

—4x° +256 =0

x’-64 =0  (Divided by 4)

Here a=1
h=0
c=-064
(Formula) x= —b+ Vb -4duc

2a

By putting the values of a. b, ¢

. where v#—4

= =04 (0 —4(1)(-64)

2(1)

x=1
2
_ 116
X = ———
2
= 18

Solution set = {8. - 8}
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l | 3

Q.10
" —_— - 3
o _ —< where v*12.3
=1 x-2  (_3

Sol. Multiplving by (x = I}y - v -3)

]
CV Iy - 2 - By -y ) ' :
i LI KN T R R F L “he
- (x5 Hy=Ine- 3 v I

(v =20y = 3)+(x - INY=3) = (x- I){x = 2)2)

X -5y + b+rx —dy+3 - Ha' =3y + 2)

217 -9y 49 = 2€C —0x+4

“9v+6y -4 _g
‘ -3x=-5
~5
x:—.—
-3
5
X = =
3

Q.11 (xHd)(x- 1)+ +S)xt2) = 6
Sol v +3v—d+a +7x+10 -
2T+ 10x=44+10-6 =

:_\': +]10y = 0

Here a=2
b =10
c=10

-

(Formula)  x = ~h#Vh' ~duc
2u

By putting the values of ¢, b. ¢
« = -10£4/110)* - 42)0)

2(2)
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= —10+4/100

4
_=10+10
X = —
-4
‘- -10+10 =10-10
' 4 4
0 =20
X = —
4 4
x=0-5

Solution set = {0, - §}
Q.12 (2x+4)y -(4x-6)" =
Sol.l
(dx” +16x+16) - (1607 - 48x + 36) 0
—12x" 4+ 64x=20 =g
(Dividing by -4)

3T =16x+5 =

Here a=3
b=-16
c=5 -
(Formula) x = -b+ b —4ac

2a
By putting the values of @, b, ¢

= —(-18)2 (-16) - 403)5)
- 2(3) .

(= 10% V256 -60
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x = lfit\ﬁzjf;

§
_ I({tl4
6
. 16414 16-14
- 6 6
30 2
xX=— —
6 6
2
X = J,—
3

Solution set = {5%}

Q.1. Find two consecutive positive odd numbers such that
the sum of their squares is 74,

Sol. Let 1% odd number =2x + |
2™ odd number = 2x + 3

According to statement
Qx+1) +(2x+3)’ =74
4 +4x+1+4x° +12x+9 =74
8x" +16x+10-74 =0
§x* +16x-64 =0
«* +2x-8 =0 (Divided by 8)
x’+4x-2x-8 =0 .

(v’ +4x)-(2x+8) =0
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